13 2 28

1010229

25



3.1
3.2
3.3
3.4

4.1
4.2
4.3



1
FORTRAN®-®@-®
2.
2 34.3KPa
50mm (JIS 28762 D D/2
) 32mm 600mm, 250mm, 1,600mm
0x 150mm, 30mm 10mm(D), 150mm
235x 150mm, 5 10mm
10mm 2mm
3
50mm
3
R=6mm 20
0.3mm 1.3mm
2 500mm 1000mm 2
0
4 Y X
X
6mm  2mm 1mm 150mm 0.5mm
X + 225mm Y 600mm X



01mm 0-50 0-100 0-300 0-1000Pa
Vo Y=10mm V=30m/
s( Re=19,400)
24mmx 30mm
24mmx 50mm 83 50
30
%)
= - " 100
6mm 1.0 0.042mm
12mm 0.
459N, 200u s 6.553
C 2%
3.
3.1
v _\/aéZRT(P- RS
0_ L
g I:)0 (%]
(P-Py
5 Y¥=10,30,50,60,70,80,100,200,400,600mm
D
U _[te (x+1) o (X-1a
U, 2§ cZ cz H
5 Y/D=60
10
6
Y D
V Vb Y/D=5 96
Y/D=5 Y/D=10 Y/D=10
3.2
3 7
Y/D=60 A
Y/D=60 C Y/D=60



8 1

L(mm) A,B,C
1 20
A B C
9
0
Y/D=20 X/D=% 2.4
3.3
5 1000
12mm
11

X/D=% 2.4

3.4
XY
10mm
7mm 50,250,450mm
mm
90 100,300,500mm
100,300,500mm
1
14

30,45,60,90

30,11,59%%

5 1000 (

7mm

Y=200,400mm
Y/D=40

Imm

X/D=-48 +48

616

60,45,30 300mm

13

100 300

10mm
B
1.34) Y/D=20,4
Ne
Y/D=40
10
Y/D=20
12
500mm



Y/D=20 40

dUs _ - -
M S:|:D+FG+FL+FLG
F Fo
Fe
|%:-T
at
®
_1 TH
Fox = 5CsAT 41U/ ] (Ua - Us)
1 —_—
FDY _E SASra |Ur |(U y uSY)
Ur Ur
|Ur. |= \/(uax' usx)2+(uay u5y)2
24 0,687 0.42
C. = +0.15Re +
STR 5(1 s ) 1+ 4.25" 10* Re ™™
Res = "a lUr |ds
m
=4 (6).(7)
1 — U, w,
FL = CLRASr a |Ur | -
Iw, |
X v
1 Uy, - U rz
FLX :_CLRASralurl( > Sy
2 Iw, |
u.,-u
I:LX = CLRA‘>ra|Ur|(aX SX .
lw, |
0 s Wr

FLG



Ws

W, =W,

rz

C

é
C, =Mn&.50.25

/ |
F. =1.62d.r _,/n
LG S" a |dX|

Fo

dug,
dt

qIx

e

Ua

Ty o

a-[ualy - 1-[uax 9

dg | U

— U

U, | g
Fs Saffman X
dU | dU /dx —
N . 0

|dU_ /dx |

r

dUr/dx
mg(ra - rs)
r-S
. & u,-u 0
—ZLASralur|(;CS(uax-usx)+CLR(ay —S‘y rz:
2M & Iw,| &
. f dU | dU /dx —
+—162dsra nI | — U,
M |dx| |dU, /dx|
1 — & u, - U, w, 9 r,-r
__ASralur | CS(uay- ug/)+CLR( —)Iv ;+ g( S)
2M "Wrzl Q rS
T [©)]
2
1 0 - &2 C C
—racag%g W, W, §&——==+—=1
2 é2g¢g & JRe, Re
(oF} 1
1 C G
Re, C, C,
10<Re <20 5.32 37.2
20<Re<50 | 6.44 32.2
50<Re <100| 6.45 32.1
Rer



\nS 2
e, 21016, 12)°
n

4.2
2
10
Y/D=5
u,=0
uay =30
Simson
u,=0
Z .2
04|
_U |1 g—
“b
Xe be
=Y 005, ¥-005, 401378
tan 80 10
b = 10X +Y - 0.05
° 10
16 Xe be Y/D=5
b= 1.378£Y
YC
Ye

Y/D=5
15

Y/D=5



3 J
uk =
2 \r,ssYy
o, =3 IS Ion(i- tah2h)- tanhin}
47\r,Y
U, B[ (1- tanhzh)
2 \r,sY
Uk Y
h o
h=80% g-_-
es gY 7.67
J
J=r,USDH
17 18 Simson Gortler
Simson Gortler
19 20 21
Y/D=5 X/D>0 A X/D<0 C X/D=0 B
X A B C 3
4.3
1 1
1
0.0005 1
(X Y)=(0.005 0.005) X
22 23 24
7 A B C =40 80 140mm

1 1/250



25 L=10 230mm

60.9
26 27
)
28
mm
20.6
5
€Y
@
®
*

®)

28 L=10 30mm

Y/D=20 2

13

1000

B

(Y =300mm)
300mm
14
29

21.7 17.4

29 A
L=10 30



@
)
©)
4

Q)
(©)
Q)

@

FORTRAN (1990)
FORTRAN (1992)
(1981)

32 10 (1958) pp 1-9
(1984)
Matthias POTTHOFF

) 65-629B(1991) ppl66-173

) 56-531B(1990) pp3210-3216

LES(



A 1 s
LL] I 1L} : : :
- e
<)
roots blower inverter power source
orifice flow meter thermometer buffer tank
nozzle traverse equipment current meter
surface plate differential manometer
2

- 10 -




-H-!‘Hﬁ"h—lﬂ_ -

Wire gaze
(#20)
Alr

3



1000mm

Buffer tank

10 \ /‘m

. /r_(f'ﬂ-h\\hh .

44
O
g
>

20

10 f—

0

=20 -1} ] 10 20



AV

01

100

10
Y/D

X/D=0

- 13 -



100%

90% H
80%
70%
60% H
50% H
40% 1
30%
20% H
10%

0%

b\

Test piece

[ron bar
D=12mm

Side view

1A RRRRIIRR]
il ARRRIRRL
IRRRRRRNRRANR
ERRRRRRRRRRRD N
IRANRRRERRRAR (o5
il AERRRRREN =a
IRRRRRRNRRANR
ERRRRRRRRRANE
ILENRRRRRRENE
RERENRRER
70 90 110 130 150 170 190 210 230
L(mm)
8 ABC
Test Piece
L

-

350mm

Front view

- 14 -




80
70
a R —0— Y=200|_|
%28 [\ ] [me—v=a00

, YA

T ¢
30 \
g /‘**‘T
10 ({)}// &
0
-250 -150 -50 50 150 250

X (mm)

10

- 15 -



Jig

N

Grain

e

0

Acrylic pipe

|

/

Test piece

& Precision
% Vise

-

11



0.025

(%)

0.02

0.015

0.01

0.005

(%)

0.05
0.045
0.04
0.035
0.03
0.025
0.02
0.015
0.01
0.005

W = 0.905v + 0.0066 .
R“=0.9801 o
——
1.2 1.7 2.2 2.7 3.2
(m/s)
12
o
W = -0.00048 + 0.0549
R?=0.9032
| \\
\'
20 30 40 50 60 70 80 90 100
()
13

- 17 -



Air jet

Ua

USX£ ;

Usy

f’///;/D:S

X/D=0

14

- 18 -



? Y/D=5
De
Xe
&
Alr jet

15 Xe be

- 19 -




I’“'D b —y | Y=10mm( )
\ O Y=30mm( )
| a
68 A Y=50mm( )L
\: X E— (Simson)
(]
5 faWal
~N U0
S ﬁi
ﬂ o K
QD I / 1 1 o 1 1 I‘I_Dﬁ
-25 -2 -15 -1 -05 0 0.5 1 15 2 25
X/by,,
16 (Simson)
€  Y=50mm
19 o Y=60mm
' A Y=70mm
X Y=80mm
X Y=100m
S Y=200mm
+  Y=400m
- Y=600mm
— Y=800mm
2 — (Gortler)
o}
=—Lxd4 ]
-3 2 3
X/by,,
17 (Gortler)

- 20 -



-20ms 20ms

30ms 36ms 40ms 50ms
19 (L=40mm)

-28ms 14ms 20ms

24ms 34ms 40ms

20 (L=80mm)

- 21 -



-10ms 14ms 20ms
30ms 34ms
21 (L=140mm)

100
1UU

oU

Y/D

4u

=ZU

X/D

22
L=40mm
- 22 -



Y/D

Y/D

-20

-15

-10 -5

23

=10
X/D

(L=80mm)

-15

-10 -5

24

X/D

(L=140mm)

- 23 -




S

M!
\\

//}\n\\\

/7222 N\

//——~\._
v

25

(L=10 230mm)

1/

\

N
TA AN/
VARG

26

- 24 -




20,
40)

—I—Y/D

——Y/D

T2

/N

s

Uz

X/D

27

BT

|
X x e
| _ xxh%éx
x e
® X O 3 X
XX S XU
X X ORI
® X X0
X | mmxd

PR OO0 MOMOHOOL X

@ XK K XED
_ |
|
o
[ [
omaxge
KEiA P
% IXEX @ |
= 2 3 2

(L) ES b

40 40 100 140 140 160
LS mm}

&

28 HAoEALTB(LLELESIEA

- 25 -



Y(mm)

50

45

40

35

30

25

20

15

10

-20

-15

29

- 26 -




